Section C: Physiological Approach
Assumption: The physiological approach assumes that behaviour can be explained by physiological influences and mainly focuses on the brain, the nervous system (neurotransmitters) and hormones to determine behaviour.
	Strengths	
	Weaknesses 

	Point: The approach is useful and shown to have practical applications.
Evidence: Maguire’s study demonstrated the plasticity of the brain (the brains ability to change shape) which is influenced by environmental influences; in this case it was whether the participants were taxi or non-taxi drivers.
Explain: This has practical applications and can be useful for developing treatments and therapies for individuals with brain injury and brain disease.
	Point: The approach tests behaviour in laboratory conditions.
Evidence: The participants in Dement and Kleitman’s study were measured in laboratory conditions and were required to wear electrodes on their face and scalp while they slept which doesn’t reflect how they would normally sleep at home/in their everyday life. Similarly, in Sperry’s study participants were made to complete unusual tasks (looking at stimuli for 1/10 of a second.
Explain: Tasks involved in research into this area do not usually represent real life and so this approach often lacks ecological validity.

	Point: The approach makes use of scientific equipment
Evidence: Maguire’s study used MRI technology in order to measure the density/volume of grey matter in the participant’s hippocampus. Dement and Kleitman used EEG equipment by attaching electrodes onto patients face and scalp to measure brainwave activity and changes in eye movement patterns
Explain: The use of such equipment allows researchers to obtain data in a precise and objective manner, which increases the validity of results.
	Point: Studies are often costly and time consuming (due to use of sophisticated, scientific equipment). This often leads to studies having small samples.
Evidence: In Dement and Kleitman’s study only 5/9 participants were studied extensively. In Sperry’s study only 11 participants were selected as participants had to meet a specific criteria (must have undergone hemisphere deconnection). Both samples are relatively small.
Explain: This means that samples in physiological research are not representative and therefore it is difficult to generalise the results to the wider population.
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